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<Q>Extracellular fluid (ECF) contains up to 14 times more sodium than intracellular fluid
(ICF), and yet all cells continue to pump in even more sodium. They could only do this by

means of

<C+> active transport

<Q>  Which of the following body system(s) is directed entirely toward maintaining homeostasis? v
<C+> renal system.

<Q> Which sequence represents the correct hierarchy of biological organization?
‘<C+> cell-tissue-organ-system-organism.

<Q> The internal environment

<C+> is in direct contact with the body's cells and consists of the extracellular fluid.

<Q>  Which of the following statements concerning negative feedback is incorrect? -

<C+> with negative feedback, a control system's input and output continue to enhance each other.

<Q>  Sweating is initiated in response to a rise in body temperature that occurs on exposure to a hot
environment. Evaporation of the sweat cools the body. If invironmental temperature rise 34 degree, and the
gain is 33, so body temperature will be:

<C+> normal + 1.

<Q>  If two control systems, have gain of 3, and 4, respectively, then which of the following is correct:
<C+> second one correction is more than the first

<Q> Intrusion of big materials to the enterior of the cell through the plasma membrane is called
<C+> endocytosis

<Q>  The universal energy currency in cells is
<C+> ATP.

<Q>  Which of the following is a function of membrane cholestyrol?
<C+> they control the fluidity of the membrane.

<Q>  The phospholipids within the plasma membrane *

<C+> contains more protein than cholesterole .

<Q>  Receptor sites on the outer surface of the plasma membrane are
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<Q> A man drinks 2L of hypotonic fluid. These two liters will cause: v

<C+>Two of these answers are correct

<Q> After injection 100 micro liter of radioactive labeled albumin with 6 million CPM(unit for
radioactivity), The activity became, after distribution inside the body,300 CPM, what is the
volume of blood if the Hematocrit is 50%:
<C+> 4 liters

<Q> Ingestion of 2 liter isotonic saline (300 mOsm/l). If plasma osmolarity is 300 mOsm/l—
and volume of ECF= 10 L and ICF= 30 L. Calculate the end result of volume and

osmolarity of ECF and ICF.
<C+> His ECF, and ICF osmolarity will be 300mOsm/l, and ECF

volume is 12 L.

<Q> Variation in percent body water among individuals is primarily due to differences in
<C+> amount of adipose tissue.

<Q>  The largest percentage of water is located in what “compartment?”

.<C+> intracellular fluids.

<Q>  The component that constitutes the largest percentage of body weight is
<C+> H,0.

<Q> Select the transcellular fluid that serves as lubricator for the heart.
<C+> pericardial.

<Q> Interstitial fluid - Lrgog Comgonant R ESF
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<C+> two of these answers are right.

<Q>  The major source of water loss from the body, under normal condition, is
<C+> urine.
<Q>  When water is lost from the ECF but electrolytes are retained
<C+> the osmolarity of the ECF after equilibrium is less than that after water loss.
<Q>  The primary electrolyte in the e)f(racellular fluid is

<C+> sodium ion.
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<C+> potassium ion.
<Q>  The unequal distribution of sodium and potassium between the ICF and ECF

<C+> results from sodium being pumped out and potassium being pumped into cells.

<Q>  When the ECF becomes hypertonic
.<C+> moves out of the cells by osmosis.
<Q>  When there is excess Na* in the body,
<C+> will cause hyperosmotic overhydration.
<Q>  The primary anion of the ECF is

<C+> chloride.

<Q>  Allof the following are causes of intracellular edema except
<C+> effect of histamine on endothelial layer. = |

<Q>  All of the following will occur during water intoxication except

<C+> water movement from ICF to ECF.
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